Year 11 Biology
EXAM PREPARATION FOR B2a
AQA Specification – what you will be examined on…
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Animal Cells
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· Match up the statements below with the cells above.
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Plant Cells
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Bacteria and Yeast

Draw and label a bacterial cell and a yeast cell:

	
	


Compare a plant vs. animal vs. bacterial vs. yeast

	Feature
	Animal
	Plant or algae
	Bacteria
	Yeast

	Cell membrane
	
	
	
	

	Nucleus
	
	
	
	

	Plasmids
	
	
	
	

	Chloroplast
	
	
	
	

	Cell wall
	
	
	
	

	Cytoplasm 
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AQA Specification – what you will be examined on…
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Q1.    The diagram shows four ways in which molecules may move into a cell and out of a cell. The dots show the concentration of molecules.
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The cell is respiring aerobically.  Write the correct letter, A, B, C or D, next to each process.

 

	Process
	Arrow
A, B, C or D

	The movement of oxygen molecules
	 

	The movement of carbon dioxide molecules
	 


(Total 2 marks)

 Q2.  (a)     The diagrams show cells containing and surrounded by oxygen molecules.
Oxygen can move into cells or out of cells.
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Into which cell, A, B, C or D, will oxygen move the fastest?

Write your answer, A, B, C or D, in the box.           [image: image12.png]



(1)

Explain your answer  









                            (2) 

(b)     Draw a ring around the correct word to complete each sentence.

 

	 

(i)       Oxygen is taken into cells by the process of
	diffusion

osmosis

respiration
	 

.


(1)
	 

(ii)      Cells need oxygen for
	breathing

photosynthesis

respiration
	 

.


(1)
	 

(iii)     The parts of cells that use up the most oxygen are the
	membranes

mitochondria

nuclei
	 

.


(1) 
	 

(iv)     Some cells produce oxygen in the process of
	diffusion

photosynthesis

respiration
	 

.


(1)
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The stomach is an organ.  It consists of 3 types of tissue:

· Glandular tissue

· Muscle tissue

· Epithelial tissue
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Digestive System
[image: image19.png]Complete the sentences by crossing out the wrong words in the brackets.

Digestion starts in the (stomach/mouth/small intestine). During digestion, digestive
(juices/creams/lotions) are added to the food. These contain (endives/starch/enzymes)
that break the food down into (smaller/insoluble/larger) pieces.
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1. Which part contains the salivary glands?  ___________________

2. What do the salivary glands produce?  ___________________

3. How does food get down the gullet?  ____________________________________________

4. What chemical does the stomach contain?  _______________

5. What 2 things does this chemical do?  ___________________________________________

6. What does the stomach do itself to help break down food?  ________________________

7. Where does the absorption of broken down food happen?  ________________________

8. Where does the absorption of water happen?  ___________________________

9. What does the rectum store?  _____________________

10. Digestive juices contain enzymes.  Which 3 places are enzymes produced?

____________________ and ___________________ and ___________________.
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ABSORPTION OF FOOD
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Where are millions of these found?  ________________________

What are they called?  ______________________


Why are they important?  _________________________________
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	Organ
	Function

	
	

	
	

	
	

	
	


Inside a leaf
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Match up the adaptation with the correct explanation as to how it helps a leaf to function
	Adaptation
	
	How it helps

	Broad leaf
	
	Allow gases to diffuse easily inside the leaf



	Many chloroplasts with chlorophyll


	
	Lets gases enter and exit the leaf.  They close to stop the leaf from drying out during the night.



	Holes called stomata open and close


	
	Large surface area to capture light



	Many air spaces inside


	
	Absorb as much light energy as possible



	Leaves are thin
	
	Allows water and sugar to be transported towards and away from the leaf.



	Veins containing xylem and phloem


	
	Allows gases to enter quicker.

	Waxy cuticle
	
	Waterproof to stop leaves drying out.


Recall the word equation for photosynthesis:

_____________ + _______________ ( __________________ + _________________
What are the functions of xylem and phloem (the veins in the plant)

Xylem:

Phloem:
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	The effect of light intensity on photosynthesis
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	Between A + B, as light intensity ____________ so does the rate of photosynthesis, so light is the limiting factor. 

Between ___ and ___ increasing the light intensity has no effect. ___________ or carbon dioxide are now the limiting factors. 

	The effect of carbon dioxide on photosynthesis
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	Between A + B, as __________ ___________ increases so does the rate of photosynthesis, so carbon dioxide is the limiting factor. 

Between B and C _____________ the carbon dioxide has no effect. Temperature or ____________ are now the limiting factors.

The level of carbon dioxide in __________ is about 0.03% so it is often a limiting factor. 

	The effect of temperature on photosynthesis
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	Between 0 and ______ °C, as temperature increases so does the rate of photosynthesis.  Temperature is the limiting factor. 

Above 40 °C _______________ that speed up photosynthesis get damaged (denatured) so the rate of photosynthesis ___________ rapidly. 
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Y11 AQA Biology:  Uses of glucose crossword (H)
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Across

 2) Possible future use of some oil rich algal cells.  (7)

 6) This complex carbohydrate made from glucose is used to strengthen plant cell walls.  (9)

 7) Type of acid which is linked together to make proteins.  (5)

 8) Storage carbohydrate molecule made by plants from many glucose molecules. (6)

 9) Process by which plants and algae make glucose.  (14)

Down

 1) Mineral ion which plants get from the soil and use together with sugars to make amino acids and proteins.  (7)

 3) Fats and ____________ are made from glucose and can act as an energy store in some seeds.  (4)

 4) Process that plants (and animals) use to release energy from glucose for key functions such as growth (11)

 5) Term used to describe simple plants which are often found growing in water.  (5)
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